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PART 1: MULTIPLE CHOICE - SELECT THE BEST ANSWER FOR EACH QUESTION! 2 PTS

EACH.
1. Which of these would NOT be found in the cortex of the kidney?
a. PCT
b. DCT

c. peritubular capillaries
d. loop of Henle
e. Bowman’s capsule

2. Which of these structures drain into the renal pelws?
a. renal calyxes
b. renal medulla
¢. renal capsule
d. renal vein
e. renal cortex

3. The nephrons that mainly used to concentrate urine are
a. juxtaglomerular
b. juxtamedullary
c. pelvical
d. cortical
e. located in the adipose capsule

4. Where in the nephron is NH4+ secreted?
a. DCT
b. Bowman'’s capsule
c. PCT
d. collecting tubules
e. loop of Henle

5. Which of these is ONLY reabsorbed in the decending loop of Henle?
a. OH-
b. water
c. Mg+
d. Na+
e. K+

6. Movement through fenestrated capillaries in the nephron is called
a. filtration
b. secretion

reabsorption

. concentration gradient
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[image: image2.png]7. Which of these is contolled by aldosterone?
a. urea
b. calcium= Ca2+
c. potassium = K+
d. albumin
e. ammonium= NH4

8. Which of these structures contains the trigone?
a. urethra
b. ureter
c. uterus
d. urinary bladder
e. fallopian tube

9. Albumin in the urine would be which of these conditions?
a. Glycosuria
b. Proteinuria
c. Hematuria
d. Pyruria
e. Ketonuria

10. Which of these structures receives urine DIRECTLY from the bladder?

a. urethra

b. major calyces
¢. renal pelvis

d. renel pyramid
e. minor calyces

11. Which of these layers is made up of PSCCET in the urinary bladder?

o

. mucosa

b. submucosa

C. serosa

d. muscularis

e. none of the above

12. ADH would cause
a. increased glucose absorption
b. lower water in blood plasma
c. concentrated urine
d. amnio acid secretion
e. secretion of urea

13. Which of these would result from starvation?
a. Glycosuria ‘
b. Proteinuria
¢. Hematuria
d. Pyruria
e. Ketonuria
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Which of these statements is FALSE?
a. the kidney in lab is a frontal section
b. ADH is stored in the posterior pituitary
c. renal pyramids are locted in the medulla
d. 100% of glucose is secreted in the PCT
e. urethra is separate from reproduction in females

Which male hormone targets the interstitial cells
a. GnRH
b. FSH
c. LH
d. testosterone
e. prolactin

Which of these undergoes meiosis I?
a. spermatid
b. primary spermatocyte
¢. spermatogonia
d. oogonia
e. secondary spermatocyte

Which of the cells trim the cytoplasm from spermatozoa?
a. sertoli
b. interstitial
c. granulosa
d. spermatid
e. spermatogonia

The cell that is fertilized by the spermatozoa is the
a. oogonia

b. primary oocyte

c. secondary oocyte

d. corpus spongiosum

e. polar body

The structure that contains the source of 60% of semen is the
Cowper’s gland

. seminiferous tubules

ejaculatory duct

. epididymis

seminal vesicle
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Which of these structures is NOT a duct for transport?
a. fallopian tube
b. ejaculatory duct
c. epididymis
d. prostate
e. vas deferens
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Which of these is targeted by hCG?
a. primary follicle
b. secondary follicle
c. corpus luteum
d: mature (Graafian) follicle
e. primordial follicle

. Which of these is NOT part of the vulva?

a. vagina

b. labia minora
c. female prepuce
d. labia majora
e. clitoris

The female structure where fertilization normally occurs is the
a. fallopian tubes
b. myometrium
C. cervix
d. vagina
e. endometrium

Which of these is NOT part of the uterine cycle?
a. menstrual
b. luteal
c. secretory
d. proliferation
e. all of the above are part of the cycle

|

Which of these structures is the same as the scrotum in males?
. a. labia majora
b. labia minora
c. clitoris
d. vagina
e. mons pubis

The process/event that involves the blastocyst is
a. implantation '
b. capacitation
C. syngamy
d. penetration
e. differentiation

Which of these would be the oldest stage in development?
a. corona radiata
b. morula
c fetus''
d. zygote
e. blastocyst
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Which of these statements is FALSE about water content? |

The process of the thinning of the acrosome that takes 7 hours is known as ___

a. implantation
b. capacitation
C. syngamy

d. penetration
e. differentiation

The layer that gives rise to occipital lobe during gastrulization would be the
a

. endoderm
b. mesoderm
c. ectoderm
d. epidermis
e. sarcoderm

Which of these stages contains the trophoblast?

a. zygote

b. morula

¢. secondary oocyte
d. blastomere

e. blastacyst

A female carrier for hemophilia (sex-liked) mates with an normal male. How many of the

OFFSPRING will be hemophiliacs?
a. 100% "

b. 75%

c. 50%

d. 25%

e. 0%

A heterozygous brown eyed individual mates with a heterozygous brown eyed individual.

How many of these offspring will be blue eyed (homozygous recessive)?
a. 100%

b. 75%

c. 50%

d. 25%

e. 0%

a. most of the water is intracelluar

b. most extracellular fluid is located as interstitial fluid
¢. women have lower water than men

d. infants have more water than adults

“ e/ lots of candy and twinkiesleads to higher water content




[image: image6.png]34. Which of these is a false statement about water gains and losses?
a. main water gain is by drinking !N

b. hypothalamus moniters osmotic pressure

c. water mellon is a good soure of water

d. peeing is the main water loss source

e. ETS is the least amount of water loss

35. Which of these is false about acid-base balance?
a. there is a bicarbonate buffer system

b. Na+ has an antiporter with H+

c. alkadosis is above pH = 7.45

d. there is a phosphate buffer system

e. exhalation of CO2 wouls decrease pH
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1 36. Which Lf these triats is found on the “Y” chromosome?

a. knuckle patterns
b. baldness

c. foot size

d. insight learning
e. hairy ears

I :
PART;Z. MATCHING SELECT THE BEST NUMBER FOR EACH NUMBER 2 PTS EACH

GENETICS
51. color blindness 1. XO
52. monosomic 2. alternate forms of a gene
53. trisomic 3. method to predict probability of genotype/ phenotype in offspring
54. Punnetsquare 4. The physical expression of the genes; blue eyes, blond
55. Phenotype 5 when two alleles are exactly alike
56. men with breasts 6. chromosome pairs 1-22
57. Autoso'{nal 7. blood type AB
58. Alleles 8. XYY
59. Codominant 9. XXY
60. Tall men/acne 10. Down’s syndrome
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‘label the below diagram on your scan tron.
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11. Sex (X) linked disease
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'PART 3. DISCUSSION QUESTION 10 pts
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